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I Continuation of analysis of '3 nwn: »pa7 Yv1 and v”yn where the value isn’t known — 3 o7
a  Rna: definition of “unknown value” — rotted fruit, sour wine or coins that have rusted
b xn»ia: makeup of 3 017 needed — must be 3 wholesalers of that item, even a non-Jew or the owner himself qualifies
i Question (/77077): what if the three are partners?
ii  Answer: from Rn»93, ruling that a man and his two wives qualify (we assume their property is common)
1 Rejection: could be like ka2 "7 and his wife (who was wealthy and was financial independent of him)
II  Continuation of analysis of 3 mwn: redemption of mwpn, "PYoo0NN 137” etc. with 3...
a  Note: our mwn is contra »”aR1, who requires 10
i Observation (»ax5 973): >"aR7's position is reasonable, as it follows HR1w (below); but 1327’s position (3) is w/o source
1 Suggestion: as per amount of times 03 appears in mwTpPn 1179
2 Rejection: then yp p would require 4, not 10;
(a) Suggestion: perhaps yp1p needs 10 because the sui0 Block: if so, mw1pn would require 6 — R'wp
b Meaning of psvsvni P27y
i 37 owa 57 "1 if he vows to give the value of a *53 (as per 27’s ruling in that regard)
1 Challenge: the language should then be %0501 Yv 27y (defense: there is such a version of the niwn)
ii  »m2an pwa 8701 7. case where he used 1’27y as an index for giving p%v%on to WTPN
1 Challenge: wording should be 21y v pYvovn (defense: there is such a version of the niwn as well)
iii 173~ "7 case where someone dedicates his own value (or another’s) as per p21p nw1a
1 If: the 102 comes to collect from pHv%on, 3 are needed for appraisal; if from land -10
(@) Question (asked of 8°37): why is there a need for 3 for bringing something into w"1pn?
(i) Answer: same as redemption; 3 are needed to protect against errors in appraisal
177 *7's opinion:one of the 3 must be a 113 Question: according to 1327, why does the nw1a mention a j03? ®wp
d Redemption of mypip (and nR) require 10, one of whom is a 113
i Source: HYrmw — 10 mentions of 113 throughout the mw1a of mwTpn 1179
1  1stneeded for itself, each subsequent one is a VIYn IR VIYN - which extends to 9 DYorRIW.
(a) Question: why doesn’t each vIyn balance the next one = 5 013, 5 DHRIV? ROWVP
e Redemption of oTR —also needs 10 (1 of whom is a jn2)
i Challenge: impossible to be v1pn a person (and if he said "%y »37p, the amount is pre-set)
1 Answer: case where he states “>5» 'n7”; we assess him as an 7ay
(a) Question: if someone is w*7pn his own hair (about to be cut); is it 190501 (3) or nR (10)?
(b) Answer: dispute between 3"2w1/0'n3n in re: N%yn of the hair of an T2y who was v1pn
(i) Note: perhaps their dispute parallels n”1/D'n3n in re: laden vines as 12050n/¥p7p (re: DMV NY12Y)
(if) Rejection: even n" would agree that hair is still 078 (until cut); grapes worsen if not harvested
II "7 nawn: mwoy »»7 (requires 23) — including death of 17w used for ny’a7 and Ypoin MV
a  ya7.v. 1 only confirms for nyay; source for ya11? Answer: v. 2, unneeded for itself, extends to 751 y1n
b Spoii7r m. as per v. 3; equating (theoretical) execution of owner with execution of 1w
i Question (7axnto &27): perhaps v. 3 means that the owner really dies
1 Rejection: if so, it wouldn’t say nnv (counter: if so, R"10 he gets n»>po like the MW; counter: couldn’t get nY’po
which is more 710 than the 9o he gets for killing himself; counter: perhaps he gets “only” pin; this only
works if pan is less serious) answer: v. 4 allows for 9913, and v. 5 bans 191 where perpetrator is nn'n 1»n
ii ~ Suggestion: perhaps this allows him to get the choice of death or 1915?
1 Rejection: v. 6 clearly states that only a killer n»a is killed
iii  Question:how would a 1w that ascended ’»»0 71 be killed? 3 or 23? (v. 7)
1 Answer: 23, v. 7 equates v’R DR NN OR
IV y™/x™/p"n re: killing o 1yn; 9 — only if they’ve killed (nar — 0'nwb5) — Rn»»a supports 9™; 1310y *1 — even if not (7ot — pelt)
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